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ENGLISH VERSION

1  Answer the following question in short : 8
(1.1) Explain the meaning of partnership.
(1.2) Mention the differentiate between gross profit and loss.
(1.3) Explain the meaning of dissolution.
(1.4) What is Capitalized Average Profit ?

2 Give answer any four question : (4 out of 5) : 12

(2.1) Nirali, Suhani and Pathik are partners in the firm
sharing profit and loss in the ratio of 2:2:1. They have
decided to share profits and losses in the ratio of 3:2:1
in future. From the above information, calculate
sacrificing ratio.

(2.2) Determine the value of goodwill based on a year
purchase of 5 years average profits. From the following
information, of the partnership firm of A and B using
average profits method.

Year 1999 | 2000 | 2001 | 2002 | 2003

Profit in
Rs. 15000 | 18000 | 17000 | 25000 | 20000

(2.3) Mention the characteristics of partnership.

(2.4) Love and Lovely are partner in the firm sharing equal profit
and loss. They offered partnership to Lavesh on the term
of sharing 1/3 partnership. Lavesh brought below mentioned
assets and debts as capital :

(1) Cash Rs. 5,000 (2) Stock Rs. 8,000
(3) Debtors Rs. 7,000 (4) Creditors Rs. 10,000
Please write required general entry for the firm.

(2.5) Please write circumstances leading to retirement of

partnership.

3 Answer any three questions in detail : (3 out of 5) 15
(3.1) Differentiate between : Profit and Loss Account and

Profit and Loss Appropriation Account.
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(3.2)

(3.3)

Dhairya and Zeel are partners of a firm. On 1-4-2004
their capitals are Rs. 60,000 and Rs. 80,000 respectively.
During the year Dhairya withdrew Rs. 12,000 on
1-4-2004 and Zeel withdrew Rs. 16,000 on 1-1-2005.
The provisions in the partnership agreement are as
follows :
(1) To allow interest on loan at 10% p.a.
(2) To charge interest on drawings at 12% p.a.
(3) Dhairya is to be given a salary of Rs. 1,000 p.m.
for active participation in the firm and Zeel is to
be given a commission of Rs. 6,000 p.a.
Dhairya has advanced a loan of Rs. 12,000 to the
firm on 1-10-2004. There is no mention about interest
on capital in the partnership agreement. He demands
interest on loan at a rate of 10%.
On 31-3-2005, before making the above provisions
the profit of the firm was Rs. 80,000
From the above information, prepare Profit and Loss

Appropriation Account.

Manish, Girish and Shirish are partners sharing profit-
loss in the ratio of 6:3:1. The balance sheet of their firm
as on 31-12-2003 is as under :

Balance Sheet

Liabilities Amount | Assets Amount

(Rs.) (Rs.)

Capital : Goodwill 50,000

Manish 50,000 Sundry Assets 60,000

Girish 30,000 Cash 40,000
Shirish 20,000 1,00,000
Sundry Creditors 50,000

1,50,000 1,50,000
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When Shirish retires, the value of goodwill is determined
at Rs. 20,000. The new value of the goodwill is to be

shown in the new books.

(3.4) Explain in brief legal provision with regard to

dissolution of firm.

(3.5) Ekta and Arman are partners sharing profit and loss
equal proportion. They admitted Amit in partnership
firm given him 1/4th share in profit. The value of
goodwill was estimated at Rs. 16,000. Amit brings his
share of goodwill in cash. Pass necessary journal entry

for goodwill in the books of the firm and do compute.
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